
Exercise 2-11 Name:  

Enter the appropriate numbers/formulas in the shaded (gray) cells.

An asterisk (*) will appear in the column to the right of an incorrect answer.

Beginning inventory in work in process 25,000$         

Plus: Raw materials used in production* 95,000           

Plus: Direct labor 30,000           

Plus: Manufacturing overhead 50,000

Subtotal 200,000$       

Less: Ending work in process 15,000           

Cost of goods manufactured 185,000$       

Beginning inventory of raw materials 40,000$         

Plus: Raw materials purchased 75,000

Raw materials available for use 115,000$       

Less: Ending inventory of raw materials 20,000           

Raw materials used in production 95,000$         

 *Calculation of raw materials used in production:

Instructor

Cost of Goods Manufactured

© 2013 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.

A
C
C
T
2
 
M
a
n
a
g
e
r
i
a
l
 
A
s
i
a
-
P
a
c
i
f
i
c
 
2
n
d
 
E
d
i
t
i
o
n
 
S
i
v
a
b
a
l
a
n
 
S
o
l
u
t
i
o
n
s
 
M
a
n
u
a
l

V
i
s
i
t
 
T
e
s
t
B
a
n
k
D
e
a
l
.
c
o
m
 
t
o
 
g
e
t
 
c
o
m
p
l
e
t
e
 
f
o
r
 
a
l
l
 
c
h
a
p
t
e
r
s

https://testbankdeal.com/download/acct2-managerial-asia-pacific-2nd-edition-sivabalan-solutions-manual/


© 2013 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.

A
C
C
T
2
 
M
a
n
a
g
e
r
i
a
l
 
A
s
i
a
-
P
a
c
i
f
i
c
 
2
n
d
 
E
d
i
t
i
o
n
 
S
i
v
a
b
a
l
a
n
 
S
o
l
u
t
i
o
n
s
 
M
a
n
u
a
l

V
i
s
i
t
 
T
e
s
t
B
a
n
k
D
e
a
l
.
c
o
m
 
t
o
 
g
e
t
 
c
o
m
p
l
e
t
e
 
f
o
r
 
a
l
l
 
c
h
a
p
t
e
r
s

https://testbankdeal.com/download/acct2-managerial-asia-pacific-2nd-edition-sivabalan-solutions-manual/

